Divide by Positive Powers of Ten (E)

Find each quotient.

17 + 10% = 85 + 102 =
16 +~ 101 = 59 = 10% =
27 - 101 = 33 =101 =
88 ~ 10% = 81+ 10% =
43 +10% = 83 +~ 103 =
75 +10°% = 2+10°=
26 +103 = 13 = 10% =
8+10"'= 2+103%=
23 +101 = 29 - 10 =
24 + 103 = 92 + 10" =
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Divide by Positive Powers of Ten (E) Answers

17 +10%>=0.17

16 +10'=1.6

27 +10' =27

88 + 10% = 0.88

43 +10%*=0.43

75 + 10°=0.075

26 +10°=0.026

8+10'=0.8

23 +10'=23

24 +10°=0.024

Find each quotient.

85 + 10% = 0.85

59 + 10%=0.59

33+10'=3.3

81 +10%>=0.81

83 + 10°=0.083

2 +10%=10.002

13 +10*=0.13

2+10%°=10.002

29 +10'=29

92 +10'=9.2
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